E
2,471,330
2,126,0004
2,155,000
1,359,280H
1,008,000H
6,192,100

464,000
5,740,000/

tEL. BRSECLEESE

1HE8
12944
11044
10144
594
AT
3124
274
2364

8

HWTTFEZE

S L EITE T,

[

N
-,

RDBE|
L TEELTVET. (3D EEER] 2BTH5%<D

=

5]
OAD:

=+
)

HRSEES

l2R<S
X)

ol

—+=

ZE®

FibH B\ S Ciniz S
(D=L MiR) DIRRTEES

pNEB[HHLTNET,

)

iy

*

it 5B LICEREME (BB W) ZBELTI !

FTER[EBHAD S EINESHE] ZHk

j

—

SR ES

—
[

l

- SRABEFRENBRICET DEE

@1 2ithigisfL « 2R—Y ORIEICEIT 5%

ZOHBEERDEDCRHEIDEE
SlEHE <

S
LU

EEiREf%
<

ERR27EPRRVERVL TS

FiEDEFEDISERR]
EPEECERIREDORECEAICET OEE

SERR2TE1 B 1 8H5128318E TlcW\EEWESMH OERIL1,0214, £%8(%21,515,710BTL E,
A SIE

[FRERDREBIZOBZ<PRIDEDHDEE

el TACBERDEEBH N O] DES,
RS CICRET 5%

3T, FMEWEEVNEESED
LZEZHRBEIEIVICETDHE

TECxE
BSEMSLDIXZE -

8

f

B 885-0340
(M) 208

HSEEE
EERII

=
=1

e

Sy g b e il

B MR B [ - B | b2 b sl o b B i 2 nd

g

LOEFUIEY 2 UEBHEQ S N %o BEAE | 1
QIR QR N U NEQ XTI g
EQTIQ DRG0 o I Q BRI TR
KOTSRS QUHE [HU0400 ] ViEsay REpEEW
BOIEN0SVENY €] VEES0RER EREE
B O o BB O 2 Y B & b X CEH S
KRS NQHLO AU AU K O 45650 QW IX =N
H 2 ORI RR U HIv H00 8 R KR RO
M2V %O NP oK 2 o 0 O T 0 i
KL S B T 2 U R0 i S ERERIE S F AT
B Q RIE W IR Y IV H i 1 0 R U o
[ 2 EEVEPHNP S EIVRS SIS i
595 DI Q 2 43R0 G40 DR QKIS i {040 B4 ZH
H<EES N9 RNTRUEKHET <2040
B P ELQ O S Q4 11128 S -
T2 AT R UK S U504 10 G 4 BRe
B RO HTIR B o | B 1Y -0 0 440 © TR SE -
I 2 B R Ny D BT I S 400 D)) D HEEQ
BE QKO LD QEMEED IO O BN
Nmewmm (M mikbEas) (H+-Him)
HESE Q LI I U R D L R AN
JUV IO 4940140 1490 S 5 Q IR OB M-
EECHOBENYSROE BEE
e R D e ORIt ulN KO0
T80 ¢ 0PN 1 — N\ KU EL SN
F O L ELE0 RS HEm-E
HEERIE - B SE 46 Q0 g N
Wi SRS DY E S O
B0 T HER R O ) MR SR
MERE X400 U 2403 3 B U 2
HVIOELQ 00 NS BN KT 2

T 28445

JEHR A E

11



